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10.

.~ NH;
| \I and Addition-elimination reaction
S
c. OCH;

. o~ and Cine substitution reaction
e

» \

b. OCH;

and Cine substitution reaction

d. OCH;

O and Elimination-addition reaction
NH;

Which of the following aromatic halides undergo nucleophilic substitution reaction

most easily?
Al

NO,

OCHj5

52 reaction is a

a. Bimolecular & multistep reaction
mechanism

¢. Bimolecular & single step reaction
mechanism

Polar protic solvent favour
a. E1 reaction
¢. E1 & E2 both

1,3-dioxane consist of a
a. five membered ring,
¢. seven membered ring

b .Cl
CH-
d. ClI

b. Unimolecular & multistep reaction
mechanism

d. Bimelecular & two step reaction
mechanism

b. E2 reaction
d. none of them

b. six membered ring
d. four membered ring

In Diels-Alder reaction which of the following reagent is involved?

a. AICHL
¢. both of these

In Friedel-Craft acylation the intermediate is a

a. acylium cation
¢. carbanion

Product in the following reaction will be:

Me
N N : H
o

Ph  HO Me

b. BF;
d. none of these

b. arenium ion
d. none of these

(i) MeMgBr

(Ii) NH4C|IH20
b. Me

v

ph  Me” oy
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(A) cis-decalin is more stabls
(B) trans-decalin 1s more stabl
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HBr

er of the following conformer

OH
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18.

~ !
b ®

SR H,N :

O COOH 4 HO COOH

H,

R N

uo’\J\/\ coS HO co&
The example of proton sponge among the following is
T AN Bt

N N ‘
c it e d A
N-N —N N—

Which one of the following carbanions is most stable?
as O b.

Va

~

©

=

/o~

2

®

Which of the following is an example of a nucleophilic radical?
a. O

\
;[_/%
<

-

n
%O
o9
=
\

0]
/
W/
. The compound that reacts rapidly with SbFs is
A @(F b. @)
F
H B
H
O
Caf d. - F
7
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[ Degcrigtive]
s e : 2 hrs. 30 mins. Marks : 50
[Answer question no.1 & any four (4) from the rest ]

a. Which one of the followings is expected to give precipitation of 3
AgBr in the presence of AgNOj3? Explain

H H
Br Br
1 Il

b. What is allylic arrangement? Write the mechanism of the following 2
reaction.

CI>(\ H0 HO
A B
(Major) (Minor)

c. Give a mechanism by which it is formed and write the name of this 3
mechanism.

HaC
H* CH3
CH3—>

OH CH3
d. Calculate the optical rotation of an enantiomeric mixture having
the following data. Specific rotation of the compound = (-)30°, the
mixture contain 80% of d-isomer and 20% I-isomer.

2. a. Write the products (A & B) of the following reactions with 2+42+3
justifications +3=10

(i) HCI o (i) HCI
OH HO =g s

b. Which of the following compound is having lowest pKa? Explain
(810 0) )
\/u\/u\/ vs U
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P

¢. Which of the following compound will have higher dipole
moment? Explain

OZNNNIez : MeZNNOZ

3. a. Write down the structure/conformation of the major product 4+2+4

formed in the following reactions. =10
Cl

Me,,. 2 LiAIH,
i EtONa ? ii)

b. Explain what you mean by Stereo selective and stereo specific
reactions. Explain with appropriate examples.

¢. Define Cram’s rule. Use Cram’s/anti Cram’s rule to predict the
major product in the following reactions:

H
¢
i Meﬁ( ~O i) MeMgBr 5
Ph ii) NH4CI/H,0
H
Me. _O
i) i) LiAIH 4
En=1"H i) workup
OMe
4. a. Draw Chair conformation for (i), Newman's projection for (i1) and 3+3+2
Fisher projection for (iii). +2=
10
t-Bu Me Me
i Q » Cl—-OH H Et
I ] L (iii)
~~ “Me Cl |> e H H
Cl OH Ph

b. Give R/S configurations for the following molecules

NO2 1o.£° Et
Me,, Me & S
) 'C=C=C\/ i (i) Me —H
HOH,C” o H—[—OH
cl CH, HiC cl
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c. Explain why axial methyl cyclo hexane is less stable than equatorial
methyl cyclohexane.

d. Explain why cis-1-4 di-t-butyl cyclohexane exist in boat
conformation?

3+2+2

5. a. Write the major product of the following reactions with P

mechanism.
Br

: AIBN, Bu;SnH
(I) 2 heat

= major product

(ii) Rhy(OAc),

cHel, major product

b. Which of the following bases will be the most suitable to generate
nucleophile for carrying out the reaction given below? Explain

Bases: KOH, KNHa,, EtsN

H
= Z
EY 1. Base, solvent O

3 2, PhCOCI

¢. Write the major product of the following reaction with mechanism.

Br
N 1. H,80,, 140 °C
[%J/\/\/ 3 S » Product
NG

2. NaOH

6. a. Lxplain cine substitution with examples. 24345
=10
b. What is Sin1 reaction? Give the mechanism of the following

reaction.

NG

Radical initiator
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